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Prof. Dr.iur. Dr.rer.pol. Joachim Häcker

Assignment in Corporate Finance
The Deutsche Telekom Group Case
Last Name



First Name



Signature


Max. points:
100 points + 3 extra points
Tools:

any tools except internet
General comments:

· Please write down the solution on the space indicated (marked with a straight line). Solutions written down somewhere else can not be taken into consideration. 
· Arithmetic issues: You are asked several little questions. The solution is either right or wrong. Therefore, you will be given either all points or zero points => Take your time for the calculation.
Below the consolidated profit & loss account and balance sheet of Deutsche Telekom Group (following: DT) for 2009, 2008 and 2007 is provided. DT is listed at the DAX. Please base your analysis on the p&l and balance sheet of DT as pointed out in exhibit 1-3 and the following assumptions (you don’t need to apply further financial data):

· Today is December 31, 2009.

· Market cap of DT at the end of 2009 = €44.9 bn.
· 1 € = $ 1.44. The accounts are based on IFRS.

· The interest bearing liabilities are summarized under the position “financial liabilities” (current and non-current) as well as the position “Provisions for pensions and other employee benefits”
· Capital expenditure (Capex) in 2009 = Depreciation, amortization and impairment losses in 2009 = € 13.894 bn.
· Provisions are the sum of the positions: “Provisions for pensions and other employee benefits” and “other provisions” (all two positions are non-current) and the position “other provisions” (current).

Profit & Loss account

Below a profit & loss account and a balance sheet of DT for 2009, 2008 and 2007 is provided. 

Exhibit 1: Proft & Loss account: Deutsche Telekom Group
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Exhibit 2: Balance Sheet (Assets): Deutsche Telekom Group
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A isscvaben -

Dec. 31, 2008*

Dec. 31, 2007*

Assets

Currentassets

23,012

15431

15,845

Cash and cash equivalents

5,022

302

2,200

Trade and other receivables

6757

7,393

7,69

Curtent recoverable income taxes

144

273

222

Other financial assets

2,001

1692

1919

Inventories

1,174

1,204

1463

Non-current assets and disposal groups held for sale

8527

434

1,103
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1,387

1319

1242

Non-current assets

104,762

107,709

104,828

Intangible assets

51,705

53,921

54,404

Property, plant and equipment

45,468

41,559

42531

Investments accounted for using the equity method
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3,557
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Deferred tax assets
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6610

Other asets
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120,673

* Figures orthe prioryearreporting dates adjusted. Changes n the presentaton of derivatives. B For explanations, pleass efer to “Summary of accounting policis/Change inaccounting poices.”
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Exhibit 3: Balance Sheet (Liabilities and Equity): Deutsche Telekom Group
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Part 1: Mergers & Acquisitions and IPO (32 points)
1.1 M&A process (3 points)
Assume France Telecom was interested in buying DT. Briefly describe the M&A process which will be carried out until the consummation of the process. Use the perception of the potential buyer i.e. France Telecom.  

1.2 Information memorandum (10 points)
Who would write the information memorandum in the DT case?

Does the information memorandum also include a price indication for DT? Explain your answer!

Does the information memorandum usually include information on pending law suits? Explain your answer!

Can you derive free cash flows for the next years based on the information memorandum? Explain your answer!

What is the next milestone in the M&A process after France Telecom received the information memorandum? 

1.3 LOI (1 point)
Assume France Telecom submits a letter of intent for DT. Would they offer a fair value or a purchase price? Please explain!

1.4 Due Diligence (2 points)
Who would support DT carrying out the Due Diligence in the following categories?







Adviser

Financial Due Diligence



Strategic Due Diligence



Legal Due Diligence




Tax Due Diligence



1.5 Advisors (1 point)
Please name three big law firms and the names of the “big four” auditing companies.

1.6 Signing versus closing (3 points)
Assume the signing of the France Telecom / DT M&A deal was done. What would be the next steps in order to close the transaction?

1.7 Payment (3 points)

How would France Telekom pay for DT? Point out three payment schemes and describe the pros and cons. 
1.8 Specific issues (9 points)

Assume you sold Facebook: What valuation method would be your preferred method and why?
Assume France Telekom would like to acquire DT: What is the threshold which triggers a mandatory public tender offer by the potential interested party?
Could France Telekom offer a higher price to a core DT shareholder compared to the shareholders of the free float?

Would you advise France Telekom to rather take the EV/EBIT multiple or the EV/EBITDA multiple in a comparable transactions analysis for DT? 

Part 2: Risk and Rates of Return and Cost of Capital (24 points)
2.1 WACC (9 points)
2.1.1 Derive DT’s WACC for 2009 based on exhibit 1, 2 and 3, the assumptions on the first page as well as the following additional financial assumptions: (6 points)
DT’s tax rate = 30%

DT’s cost of debt = 6%

Current DAX 30 level = 6,000

Introduction of DAX 30 at the end of 1987 at the level of 1,000

Risk free rate = 4%

DT’s Beta = 0.85
All financial figures mentioned here can be interpreted as occurring at the end of 2009
2.1.2 Assume the risk free rate was 4% and the return on the market was 10%. What would be the expected return on DT (Beta = 0.85) if CAPM were applied? (1 point)
2.1.3 Compare the expected return on DT as calculated in 2.1.2 with the return on equity balance sheet ratio (both financial figures are based on Dec. 31, 2009). What do you conclude? (2 points)
2.2 WACC components (8points)
2.2.1 Describe the usage of the tax-shield in the WACC formula (2 points)
2.2.2 How is the weighting in the WACC formula derived? (2 points)
2.2.3 Derive DT’s cost of debt at the end of 2009 just based on exhibit 1, 2 and 3 (2 points).
2.2.4 Why does DT’s cost of equity exceed DT’s cost of debt? (2 points)
2.3 Beta (7 points)
2.3.1 In business practice Beta usually falls into the interval of 0.5 – 2.0. Please give an example of a company with a Beta of 0.5 and a company with a Beta of 2.0 and explain why you have chosen this example (3 points)
Company with a Beta of 0.5:

Company with a Beta of 2.0:

2.3.2 Can we see companies with a negative Beta in business practice? Explain your answer (2 points)
Part 3: Managing for shareholder value (44 points)
3.1 Define the term “shareholder value”! (1 point)
3.2 Trading Multiples (8 points)
3.2.1 Derive the equity value of DT based on a trading multiple analyses, exhibit 1, 2 and 3, the assumptions pointed out in the beginning as well as the following “trading multiples assumptions”:

· Company C is DT’s peer (no entire peer group is used – only company C).

· All financial figures are 2009 year’s end figures

· Use the Price / Book multiples and the Price / Earnings ratio.

· Company C’s market cap was  €80 bn.

· Company C’s enterprise value was €120bn.

· Company C’s balance sheet points out an equity position of €70 bn.

· Company C’s profit and loss account points out a net income of €6 bn.

DT’s equity value based on Price / Book:
DT’s equity value based on Price / Earnings:
	
	

	
	

	
	

	
	


3.2.2 Compare the two results you derived in section 3.2.1 and analyse the difference in the value based on Price / Book and the value based on Price / Earnings.
3.3 Transaction multiples (5 points)
Assume that France Telekom bought 70% of a local telecom provider (we name it here: provider P) at the end of 2009 for €375m (enterprise value). Provider P’s EBIT in 2009 was €50m. How could we use this information in order to calculate the equity value of DT based on the “transaction multiples method” and assuming that the provider P transaction is the only comparable transaction? Base your answer on the EV/EBIT ratio. What would be the result?
3.4 Debt ratio (2 points)
Compare DT’s debt ratio to the average debt ratio of listed companies in Germany.

3.5 DCF (11 points)
The following free cash flows (FCF) for DT are given for the years 2009 until 2013 (FCFs are in €bn):

2009:10

2010: 11

2011: 12.1

2012: 12.5

2013:10.3

3.5.1 Assume the WACC was 10% and the growth rate for the terminal value was 1%. Based on this information: Please calculate the enterprise value for DT.
3.5.2 Now use your enterprise value you calculated in 3.5.1 but consider the WACC not to be a constant factor of 10%. Please estimate the WACC leading to an enterprise value of zero (in other words: Calculate the internal rate of return (IRR) based on DT’s FCFs 2010 – 2013 and DT’s enterprise value leading to an enterprise value of DT of zero).

3.6 Free Cash Flow (10 points)
Please derive DT’s Free Cash Flow in 2009 based on the assumptions pointed out at the beginning of the case and exhibit 1,2 and 3.

3.7 Investment (4 points)
Assume I gave you €10,000. I ask you to invest it based on the CAPM (Capital Asset Pricing Model) and to come up with an annual return of 7%. Furthermore, the following assumptions are given:

· The 10-years government bond = 4%

· The return of the market (here: the return on the DAX for simplification reason) = 10%

· Investment into gold implied an annual return of 32% over the last 3 years

How would you invest the €10.000? 

3.8 Logical sequence (3 points)
Assume DT could realize the following profits in the next 6 years by investing in a specific portfolio:

· 2010: €2;

· 2011: €6;

· 2012: €4;

· 2013: €16;

· 2014: €48;

· 2015: €46

Based on the assumption that the portfolios are based on a logical sequence: how much profit would DT make in 2016 (there is more than one solution)?
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